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https://arxiv.org/abs/2410.05229
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When Sophie watches her nephew, she When {name} watches her {family}, she gets out a variety
gets out a variety of toys for him. of toys for him. The bag of building blocks has {x}

The bag of building blocks has 31 blocks in it. The bin of stuffed animals has {y} stuffed
blocks in it. The bin of stuffed animals inside.The tower of stacking rings has {z}
animals has 8 stuffed animals inside. multicolored rings on it.{name} recently bought a tube
The tower of stacking rings has 9 of bouncy balls, bringing her total number of toys she
multicolored rings on it.Sophie bought for her {family} up to {total}. How many bouncy
recently bought a tube of bouncy balls came in the tube?

balls, bringing her total number of

toys for her nephew up to 62. How #variables:

many bouncy balls came in the tube? - name = sample(names)

- family = sample(["nephew", "cousin", "brother"])
- x = range(5, 100)

- y = range(5, 100)

- 2z = range(5, 100)

- total = range(100, 500)

ans = range(85, 200)

#conditions:
- X 4+ y 4+ z 4+ ans == total




https://arxiv.org/abs/2410.05229
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Abstraction and Reasoning Corpus for
Artificial General Intelligence (ARC-AGI)

https://arxiv.org/abs/1911.01547




ARC-AGI

i '
-
-
=
=
-
-
. B -
|
l
L3400 . ettt ettt
FAABBAREIIARERERELIAAE
i & .-~
: : :

https://www.youtube.com/watch?v=SKBG1sqdylU



ARC-AGI

https://github.com/arcpriz
e/model_baseline/blob/m
ain/prompt_example 03.
md

Example

Input:

06065
8500
66060
8500

06660

Output:
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Example

Input:

@600
@ 06060
@ 300
606060
© 06060
@ 6060
Output:
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Input:
0 40
@ 60
400



https://arcprize.org/blog/3-month-update




AVG. MTURKER

KAGGLE SOTA

25%
25%
13.33%
7.80% ® O1 PREVIEW
® O1-MINI

$1.0

STEM GRAD

76%

88%
O3 HIGH (TUNED) ®

® 03 LOW (TUNED)

COST PER TASK

$1,000.0

https://arcprize.org/blog/oai-03-pub-breakthrough




Chatbot Arena
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https://blog.Imarena.ai/blog/2024/style-control/

Chatbot Arena - Elo Score
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https://blog.Imarena.ai/blog/2024/style-control/

Chatbot Arena - Elo Score
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Chatbot Arena: Overall (left), Style and Sentiment Control (right)
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Goodhart’s law
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